



namn: _____

Datum: _____ Poäng: _____

$$1^2 + (-3) =$$

$$4^2 + 1 =$$

$$5^0 + (-1) =$$

$$(-4)^{(-1)} + 10 =$$

$$3^{(-2)} + 1 =$$

$$3^{(-1)} + 5 =$$

$$6 + (-9) =$$

$$2^{(-2)} - (-9) =$$

$$(-5)^{(-2)} - (-3) =$$

$$3^{(-2)} + (-1) =$$

$$(-10)^{(-1)} + (-3) =$$

$$7^2 + (-6) =$$

$$8^{(-2)} - 2 =$$

$$(-5)^{(-2)} - (-8) =$$

$$(-9)^{(-1)} - 7 =$$

$$6^{(-1)} - 6 =$$

$$6^{(-1)} + 10 =$$

$$5^0 - 3 =$$

$$(-2)^{(-1)} - (-2) =$$

$$6^{(-1)} - (-9) =$$



namn: _____

Datum: _____ Poäng: _____

$$1^2 + (-3) = (-2)$$

$$4^2 + 1 = 17$$

$$5^0 + (-1) = 0$$

$$(-4)^{(-1)} + 10 = \frac{39}{4} = 9\frac{3}{4}$$

$$3^{(-2)} + 1 = \frac{10}{9} = 1\frac{1}{9}$$

$$3^{(-1)} + 5 = \frac{16}{3} = 5\frac{1}{3}$$

$$6 + (-9) = (-3)$$

$$2^{(-2)} - (-9) = \frac{37}{4} = 9\frac{1}{4}$$

$$(-5)^{(-2)} - (-3) = \frac{76}{25} = 3\frac{1}{25}$$

$$3^{(-2)} + (-1) = (-\frac{8}{9})$$

$$(-10)^{(-1)} + (-3) = (-\frac{31}{10}) = (-3\frac{1}{10})$$

$$7^2 + (-6) = 43$$

$$8^{(-2)} - 2 = (-\frac{127}{64}) = (-1\frac{63}{64})$$

$$(-5)^{(-2)} - (-8) = \frac{201}{25} = 8\frac{1}{25}$$

$$(-9)^{(-1)} - 7 = (-\frac{64}{9}) = (-7\frac{1}{9})$$

$$6^{(-1)} - 6 = (-\frac{35}{6}) = (-5\frac{5}{6})$$

$$6^{(-1)} + 10 = \frac{61}{6} = 10\frac{1}{6}$$

$$5^0 - 3 = (-2)$$

$$(-2)^{(-1)} - (-2) = \frac{3}{2} = 1\frac{1}{2}$$

$$6^{(-1)} - (-9) = \frac{55}{6} = 9\frac{1}{6}$$